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Question Number : 1 Question Id : 5244766001 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Psychology is defined as the scientific study of:
== —c 5 a il
WSO IO B QO SO0 G FLIOTIDBOA.

Options :

1. people and things
SH580eN DO SHeHeN



2. emotions and beliefs
2T T3 4TPEN SOOI Heddseen
2. o
3. perception and religion
29 AT OO SO
3. o
4. mind and behavior
J)J&'}K)Jg B [K)J)QK)
4.

Question Number : 2 Question Id : 5244766002 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

1S to nature as 1s to nurture.
1208 e38 P,
Options :

1. environment, genes
NTEIOEI0, 2NF)HEN

1. %
2. conscious, unconscious
Ll DB, edRm8E
3. inaccuracy, accuracy
D) )EdES SO, P )eded SO
3.3%
4. biology. experience
253 N0, @©NZIH0
4.

Question Number : 3 Question Id : 5244766003 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following was most closely associated with the structuralist school of
psychology?

800e3S DO |DEYBOD OO e3P 58S wrer O D000 EOA
€s00?

Options :

1. Titchener

ATARTNIS

1.



2. James

= &
5 % aﬂmg
3. Descartes
=,
. TN RON
4. Watson
SNEARIN]
4. ®

Question Number : 4 Question Id : 5244766004 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Most human behavior
9695065 376 |90

Options :

1. can be easily explained

QIOZI0TT 2)O0TIHTN)
1. ®
2. has multiple causes
2230 SHETEN ") O
2.¢
3. stems from unconscious desires
- D58 0% QOB &S)N00H
4.  depends on social influence
7228 | 027°00 2 8GEONEG G0N0
4, ®

Question Number : 5 Question Id : 5244766005 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

A study of the feeding behavior of a group of wild monkeys in India would be
an example of:

2rBSTFOS R €965 FeBe) D00 TBNE), €535 (38 TBwEy,

€93 §ODI0 50 2,8 GO GOLNOR.
Options :
1. survey
SeTels

1. ®



2. naturalistic observation
D2 HOBOH

2
3. comelation
DI*0D0H00
3. #
4. an experiment
28 (D030
4. o

Question Number : 6 Question Id : 5244766006 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Ina experiment neither the researcher nor the participants know
which condition participants are in.

DTBPHOS” PSS T ) VB’ &) & HOTHRE S
T JO8 SEOAHA.

Options :
1. Dblind
90N
1.
2. double-blind
e 2308
2. -
3. random
WA RTART
3. o

4. confounded

9037000

4, %

Question Number : 7 Question Id : 5244766007 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correlation coefficients range from:
BIFH00EH Heasee 2eE3 OO Eoeraw.

Options :

l.tr=-1tor=+1

2.r=0tor=+1



3.1r=-1tor=20
3 %

4. r=+5tor=+1

Question Number : 8 Question Id : 5244766008 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Developmental Psychology studies .
BIHODNO0ID 0?23 9 §OHTTEN

Options :

1. Personality

L H58eb 50
2. Motivation
eelel=)
2. %
3. Intelligence
o
3. ® G
4. Various stages of development of man
502 Ty, @D Ty DDES dFen
4.9

Question Number : 9 Question Id : 5244766009 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Social Psychology deals with ;
SIS 5ered & H535TON0A.

Options :

1. Behaviour of an individual at work

DA 5 2,8 H58 TNEY 1058

1. &

2. Behaviour and experience in social situations

5228 OO 12953 0B €9:2550

2. ¢

-

3. Behaviour of ethnic groups
203 DI D58



4. Abnormal Behaviour of people
95500 PG | DSOS

Question Number : 10 Question Id : 5244766010 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The academic related psychological problems are dealt by
QAT°§ DODOEES APAVE DS ° 80° BN 00TV,
Options :

1. Industrial Psychologist
QOB QAN VIR

1. ®
2. Social Psychologist
SFETe2E ASJes SIS
2. %
3. Educational Psychologist
DERFBAIO V02
3¢
4, Clinical Psychologist
§QES DR
4, ®

Question Number : 11 Question Id : 5244766011 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What part of a neuron is responsible for receiving information?

DAFPTPTR) VLEOOIEE 507D ALY &) 2700 2°¢I565 HaFeNOE?

Options :

I- axon
LTSNS

2 terminal fibre

B0 b
2. %
3.  dendrite
- 3o|BEO

4. myelin sheath

OS §%0

4, %



Question Number : 12 Question Id : 5244766012 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The limbic system includes the

DODE H5HHS &) OW.

Options :

1. amygdala, hypothalamus. hippocampus
€9DTPEP, TP I, ala )SPODD

1.
2. hypothalamus. medulla. hippocampus
BIPETON M. T, IO
2. %
3. hippocampus, pons. thalamus
P ITPON N, R, TPEINR
3, %

4. cerebellum, pons. hypothalamus

D), DA, ). ST

4. %

Question Number : 13 Question Id : 5244766013 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is NOT a lobe of the brain?
808 73S DA VLY S IO DE?

Options :
1. frontal
- DO
2. dorsal
80°)O
2. ¢
3. parietal
s POILeATS)

4. Temporal

L &), ¥

Question Number : 14 Question Id : 5244766014 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



The white fatty substance covering the axon is called
SR ) GOW SO §H) § DTV €90e3*.

Options :

1. axon case
e35° )0 S

2. myelin sheath

OS 50
2. ¢ e
3. tissue
2270
3 8
4. membrane
4. w é_bu(\_/)

Question Number : 15 Question Id : 5244766015 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Cell body is known as

Eea $60°) 2903
Options :
1. axon
1 IS
2. end brush
L SN0 (200X
3. soma
3@ P
4. myelin sheath
Le O §%90

Question Number : 16 Question Id : 5244766016 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The process in which the chromosome pairs separate and half go to each
‘daughter’ cells is called

1T BeE 00 230360 DGFON D0 2,87 800" Ee77OR IT 1DEHD
e0er.

Options :



1. cytokinesis

DD
1.
2. mitosis
VAR
Z.Q
3. meiosis

e aNAPRAR
4. such a thing normally never happens

€9e0L3E PEPOLIOTT e JCET 255,

Question Number : 17 Question Id : 5244766017 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The central nervous system consists of

018 TR 55D EOR &0ENOD.
Options :
1.  the brain
R
2. the brain and the spinal cord
. SR SDBATN FeH) a3
2.
3.  the brain and the spinal cord and the autonomic system
. DR DO T TN SDA5W D LODO(DeIE H5eID
3.
4.  the brain and the somatic system
. CHER DO FATEST §eID
4.

Question Number : 18 Question Id : 5244766018 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Human beings have

SPSHOS’ &06,

Options :

1. 23 chromosomes

2318 3 nen

1. ®



2. 46 chromosomes

46 |5 S dnen

3. 23 pairs of chromosomes

23 8650 |§ RS 0E
3.
4. 48 chromosomes
48 (8RS nen
4. ®

Question Number : 19 Question Id : 5244766019 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Nerve fibres which carry information from sensory receptors to the central
nervous system

QOO TS 0 O T°B H59DF0 DAFPTTPTTR)) BES @ ST
20

Options :

T EffEIEIH 1erves
V0 ST*eN

1. ®
2. afferent nerves
€000 ST
2. ¥
3. peripheral nerves
HOROH JBAVED
3 8
4. spinal nerves
JR)NE STCeD
4, ®

Question Number : 20 Question Id : 5244766020 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The neuron within the skull (brain) and the spinal cord are known as

B (BCHE8) s0OA5N T30 DO &) SPST°S e90E3.
Options :

1. peripheral nerves system
DB ST H§IQ



2 central nerves syste]_u
S0 R H§HID
2.
3. autonoInic nerves Sys‘fem
9T TG I3
3 08

4. somaric nerves system

D57¢38 TR 9563

Question Number : 21 Question Id : 5244766021 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sensation 1s o as perception 1s to ;
ESIRARESY) § HdaAsw Ko 8.
Options :

1. wvision, olfaction

e, (T

1. o
2. conscious, unconscious
. 653, D08
2.
3. awareness. interpretation
- CIATTT), )€
4. taste. vision
SN ANARS
4. o

Question Number : 22 Question Id : 5244766022 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

If object A overlaps object B we perceive object A as being closer. Which depth cue are we
using?
23235 A 3235 B @9e353°55) TOAB, 5N A AU €55 6N (a7, eoon e
98265 SN0 o) To) 075 G TIHNT®) s30?
Options :
1. relative size

g HOAr0
1. o



2. linear perspective

. DY 580
2.
3. proximity
SIS
3 8
4.  Interposition
o Q2088 1223

Question Number : 23 Question Id : 5244766023 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

When a person enters a dark room their pupils to allow more light to enter their
eyes.

2,8 558 DEE3 KOS S DI FODDN I 70 EFS'E 50006 OB
29000 0CEL a8 0¢3 HBSFE0

Options :

1. constrict

ShRTeIn
1. ®
2. curve
L S| Eed
3. dilate
DNB0TI0S
3.
4. lor3
1 ©0° 3
4. %

Question Number : 24 Question Id : 5244766024 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘What is the visible part of the ear called?

BAS EIDOT 23R, DeNOEI?

Options :
1. pinna
L o)D)
2. funnel
plORANY



tibia

L]

- ATAlOW
4. cochlea
§80sr
4, %

Question Number : 25 Question Id : 5244766025 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which are the 4 basic sensations our skin can detect?

506 5520 HOODHEOT 4 [BrE DB D?

Options :

1. wvibration, warmth, tingling, pain
Z0NN0, IR0, B8O, )

1. ®
2.  pain. friction. cold. warmth
S, T, 9O, TIIBI0
2. ®
3. pain, pressure, hot, cold
S, 209G, DG, DO
3.
4. itching, tickling, friction. aching
CNBE, D8 OROBED, TR, )
4.%

Question Number : 26 Question Id : 5244766026 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is another term for difference threshold?

BE (BAO8 DT D0 DaNE3?

Options :
1. absolute threshold
. Do (B
1.
2. difference adaptation
L S O NGED
3. just noticeable difference

8500 MHB0AAS S

3. %



4. sensory differentiation

L % R0 HCH 23¢50

Question Number : 27 Question Id : 5244766027 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Damage to your olfactory membrane would most likely impair your ability to:

2 (€ € 8790 T IEBIB0 HO D SV ORI ISV PINT o
T20)BN06.
Options :
1. see
2P0 5
1. ®
2. hear
- D0
3. smell
s R

4. feel pain
') e0dosres

4, ®

Question Number : 28 Question Id : 5244766028 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Your ability to focus on a TV show while ignoring the noise of your friend nagging
about her day at school illustrates:

TEFTS €553 E2 (HOOD) D WY aTHAT®EN JEND) F2TR) DO

£33 SF) B DB D ;P50 DIBNOH.
Options :
1. synesthesia
. DT VNOE®
1.
2. selective attention
DODE (3D
2.

3. sensory attention

QOO |$Q

3.8



4. sensory adaptation

QOO DO

Question Number : 29 Question Id : 5244766029 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Perception is a
9P 9 :

Options :

1. sensory process

. QOO [D(5OD
1.
2. nervous mechanism
G OHOEPON0
2. W
3. sensory stimulation
QOO e
3. % i )
4. process of interpreting sensory experiences
QOO0 NN DHO0T |DIBODH
4.

Question Number : 30 Question Id : 5244766030 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The adrenal glands release:

9| BID |fogen DN DO,

Options :

1. cortisol

Lx  FOrO

2. epinephrine

IR

3.1and 2
3w 1a0003w 2

4. melatonin

L DOEDS



Question Number : 31 Question Id : 5244766031 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘When faced with a stressful situation, men are likely to respond with the:

2,SBAE SRS HOVBR DENEY,3)89)¢, BN &
1030 YOOI :
Options :

1. fight or flight response
SPTEI0 B DT (€3 )OS

1. ¢
2. hurt then help response
50 @520 (DD YORDE D00 TOHOG
2. %
3. fist and knees response
DGEE) OO TIESPEN (233O0
3 8
4. tend and befiiend response
. 1930 )OS DO ) aTeI* O 80T GO0
. 2

Question Number : 32 Question Id : 5244766032 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is classed as a basic emotion?

8§06 57¢36S” DO BPGaNE 23T $HOTT SOEB0IDEROH?

Options :
1. gult
a 9NTO0
2. shame
2993700
2. w

-

3. jealousy

SPSVIOW!
3 8
4. disgust
SO
4.4

Question Number : 33 Question Id : 5244766033 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



The ability to control one’s emotions is known as:

2,80 27" T3 ST AADO(S0TI DPe0T), e90e3.
Options :

1. facial feedback
S0 D)oo

2. interpersonal intelligence

L 5O S TGN
3. emotional regulation
. 2 T3 805 ATDO|HeD
3.

4. emotional contingency

2% 03 o @388 ¢h

Question Number : 34 Question Id : 5244766034 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

According to the Cannon-Bard theory of emotion:
TOR-2°0 BT D00 [DSS0

Options :

1. emotional experience and physiological arousal occur at the same time

2 T3 51 €9e023590 sDBAN FOBE S|BE0 2T DN HOZSTON

1.
2. emotional experience precedes physiological arousal
. 27 T3 805 €900023550 FOABE €58 SN0 GO0
2.
3. physiological arousal precedes emotional experience
FOBE €5(TE0 2333 5 93023578 SN0 GOENOD
3 8

4. we cannot experience different emotions

053 DNE &S T PO 203083 0TITIN

Question Number : 35 Question Id : 5244766035 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Motive or drive give rise to behavior that is

D8 B | BS 1DIBIE 0 SN0,

Options :



1. goal-oriented
8 50-e3c7°0 b

2. instinctive in nature

. (DEYRS DT RS
2. n
3. pleasure seeking
e3d0c50 Ao
4. pain avoiding
L A IR NPBOTIRO

Question Number : 36 Question Id : 5244766036 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

A person who is alcoholic. feels pleasure when he drinks, but he becomes normal. he feels
bad. This fact describes

0 5TPRE 27 D D58, 9685 T°IN) ) eS0T EOETC, 5°)
29653 PEPOEI DDA, 9653 AT 27D C. &8 PO

DHONOH.
Options :

1. opponent-process theory
10€550-(D|8AH DT 00

1. ¢
2. cogniftive theory
L 92T V00
3. incentive theory
- ENCEAPOERN Aol Te)
4. none of these
~H
L De3eS” DA B

Question Number : 37 Question Id : 5244766037 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Need for achievement can be measured by using

O §H0 @950 GHBFNOD TN,
Options :
1. Binet’s Scale
DD O



2. TAT
2.

Thurstone’s Scale

HFI.Q O

(%]

4. Semantic Differential Scale

3038 HHTBITHO O

Question Number : 38 Question Id : 5244766038 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

When a person is hungry and sleepy at the same time. he experiences
2,8 5558 2,8 D00H0ES 35S SO0RN QIETHNS &9 R , e9eb
€9023) o °C.

Options :

1. Approach-Avoidance Conflict
9 S-Di36d DOV

1. ®
2. Avoidance-Avoidance Conflict
DI 5-QGd DO
2. ®
3. Double Approach-Avoidance Conflict
5200 @[ FI-Dia3ed DO
3.8
4. Approach-Approach Conflict
o FS-e9(FD )5
4.9

Question Number : 39 Question Id : 5244766039 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The James-Lange theory implies that
B2 )-F0N V0SB0 JrANOA.

Options :
1. emotional experience leads to emotional behaviour

23S 815 @9e3023590 2R TS 819 (398 0E B3N

2. the individual experience frustration, so he aggresses

358 QTPE) @023, °2E3 €965 CATEICRTT OLTCR

2. %



the individual runs away because he fears

(5]

i} 358 BODHG O D
3.
4. emotional behavior leads emotional experience
23S T 315 (D58 oS T 81 €0c02ITE GO0
4. &

Question Number : 40 Question Id : 5244766040 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Give the right sequence of hierarchical needs

1863520168 29050070 A3NE), DB B3] WD 0B

a. Esteem
gNeINe

b. Self-actualization
L0 TN S

¢. Physiological
D2o3rer2Ee

d. Safety
231¢5¢%

e. Love and belongingness

23550 00050 H 5050

Options :
l. cdeb.a

1. ®

2. cedab

-

3. cdeab

4. db.eac

Question Number : 41 Question Id : 5244766041 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Pavlov 1s famous for his work in:

Py €5 AL 1DV ToTw.

Options :

1. contingent conditioning

esfjoetd S0MAN0N

1. %



2. operant conditioning

e300e30h 0BA0oh
2. %
3. classical conditioning
8O $odaNon
4. oppositional conditioning
L 19358, So&Adoh

Question Number : 42 Question Id : 5244766042 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

If we reinforce the desired response every time it occurs we are using:
R DOZNODS (DSBS 00 FEBHZS) (DB JOAND S D50
B . D0 EDOITANT™) 0 Q0.

Options :

1. continuous reinforcement
QB0HS D20

1.«
2. incremental reinforcement
2018308 BS 1B 206
2. o
3. intermittent reinforcement
€9C3TCICIT GO
3. o
4. contingent reinforcement
308 s
4, %

Question Number : 43 Question Id : 5244766043 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Taking away a child’s toys after she has hit her brother (to stop her hitting him
again'!) is an example of:
353 €5 A T3S 07 8¢5 DO 02O 3 VSONCEO (€95
2965 NP FOED) ST D6 50 2,8 TG,

Options :
1. positive punishment

PG 38,



2. negative punishment
Lo Dasre 38

3. vindictive conditioning
. DS E0BAON

4. observational learning
. HOFOT® 2023750

Question Number : 44 Question Id : 5244766044 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Thorndike developed the:
0.5 0DH50 T0H

Options :

1. law of effort
2DCGe8) 0 O3NS OO

1. o
2. law of energy
38 580
2. o
3. law of effusion
. Da)Saan WO
4. law of effect
(2927%30 WO
4. &

Question Number : 45 Question Id : 5244766045 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

schedules of reinforcement are based on number of responses while
schedules of reinforcement are based on elapsed time.

€5V T LOED (3D YOHE HOPE D eSO GOLITaW,
TOW €200 VT SOED HBDS DDA STSHGR
SOl OWS

Options :

1. fixed, variable

DY, 3OCH20O



2. wvariable, fixed

OO, VO

2. o
3. interval, ratio
DTN, DA e
3. #
4. ratio. interval
DA, DTNO
4.

Question Number : 46 Question Id : 5244766046 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In classical conditioning. US stands for:

FOES S0BAJ0RES. US @0

Options :
1. unintentional stimulus
e FH0E SODS
2. unconditioned stimulus
QBN BR &ODS
R4
3. unconnected stimulus
D000 BR &GN
3 8
4. none of the above
Lx 230 5

Question Number : 47 Question Id : 5244766047 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Positive reinforcement the likelihood of a behaviour. and negative
reinforcement the likelihood of a behaviour.

TPeNETO EHIAN 108585 TBEY, D02FN§eS., DO |De3dred
502030 1096305 OBNEY DO eb.

Options :

1. increases, increases

200 E. MDSOE



2. decreases, decreases

&HS0R, SHeddoH

2. o
3. increases, decreases
» MBS0, eiHesd0H
4. decreases, increases
MO0, MO
4. o

Question Number : 48 Question Id : 5244766048 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Geetha got sick after eating a peach. Now she feels sick when she looks at peaches.
nectarines or plums. This illustrates:

TN BIBOS fieh €00 5B (HBDOG. DY ICH S DT, RFBD B

BH DO PR @SSO 9DDNOE. BE DABNOA.
Options :
1. spontaneous recovery
3808 8856

1. ®

2. intermittent reinforcement

TR PO AT TR PATATSD

2. %

3. modelling
. Srca@oh

4.  generalization
» DSB8 Ge

Question Number : 49 Question Id : 5244766049 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

After being bitten by a big Alsatian dog, Harry was scared of other big dogs but he was
not scared of little dogs like Chihuahuas. This pattern demonstrates:

206 90 3E3A0D F0E) DS edHares, 3350 BB DQ F0E) %
Z50DDCHTCR ) @965 TN H0E3 D) F0E)eE) Z50NNGS . &
el DO I0E.

Options :



1. shaping

. e38)ed DANOo
2. negative punishment
De3dre> BE,
2.
3. discrimination
D8,
3. ¢
4. latent learning
1 925200
4. %

Question Number : 50 Question Id : 5244766050 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

To encourage children to enjoy arithmetic. you should:
DO @0ENEFTEE) S EDOIERE (865 )30 @8, A
IR oW D)

Options :
1. punish them when they make a mistake

0 €65 DRI 578 28 005

1. %
2. reward them every time they get an answer right
750 DB DAITPHEH0 QD) [(DBO 08 B0 TADHOEG
2. %
3. sometimes surprise them with a reward when they get an answer right
ST DB DSPETA0 I NI B30 720
233 )50
3.
4. 1ignore them
°¢3Q) DO00H0B
4. %

Question Number : 51 Question Id : 5244766051 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

memory is to hearing as memory is to seeing.

ErHEEE 00T D0 0T ZPHE0 TOFBBO.

Options :



1. echoic. eidetic

1De3¢5 5, Sa3¢e38

1.
2. eidetic, echoic.
&T3¢35. (D3 5.
3. working. short-term
i DA, DL 5TAE
3.
4. short-term, working
D LOISAE, DA
4, %

Question Number : 52 Question Id : 5244766052 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following brain areas have been shown to be important for memory?

808 3°¢363 &) A |2r0EPeD FPDEFEE SNV LIFDDFON?
Options :

1. cerebellum

DS DA

1. %

2. amygdala
S x IV

3. hippocampus

- REVAISIOMTN

4. all of the above
JIPRA )

Question Number : 53 Question Id : 5244766053 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In stage models of memory. information moves from:

008 5% SO’ DAFTS0 0B ECDENEN0D.

Options :

1. sensory to short-term to long-term memory

[O|AITFAE H 30 )5°DE 0B HYOE erHEF88

1.+



2. sensory to long-term to working memory

20338 0B HYTOEO™ HA T FHEF8E

3. short-term to long-term to explicit memory

H50I5DE D0 AYSOE 0GB DN aTNEFE 5B

4. sensory to eidetic to iconic memory
80 oG B3T3e38 OB HFVE D HB%

4, ®

Question Number : 54 Question Id : 5244766054 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Indra remembers watching the solar eclipse in amazing detail. She is certain she can
remember exactly what she was wearing, who she was with, what music was playing
on a nearby radio and even the breed of dog which ran past her just before the eclipse.
This is an example of a(n):

[OLENE DFSSHTETR) CNIH DIBOTT 8§ 090
HTNZ0T®) . &3 DN B0, 85530 ANBS GOE, DMNOS'D
BAETPS’ &) DoAY 2 TNOE 0B [H5TearE S0 5 SO
HADD Hog) 223 S0 HWYBOMT HAOTNEHDR) e553050 D)0
SN, AQ O ey des.

Options :

1. flashbulb memory

L TP 2D) DS
2. eidetic image
&:33¢38 Qev0
2. %
3. procedural memory
DI &0848
308
4. semantic memory
i} V3035 Dsnd
4,

Question Number : 55 Question Id : 5244766055 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Mnemonic devices

28 DOSTPeD

Options :



o

improve memory

2PHEH8D DHOHOBEBOB

1. %
2. 1mprove retention
QNN DHONIG0B
2. %
3. 1mprove recognition
500 DEHHSI0E
3. %
4. aid recall
» DB Ao HS

Question Number : 56 Question Id : 5244766056 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

2+2=4 1s categorized in

242=4 ™ HOLB0BDBHOO.
Options :
1. iconic memory
. 528 Fed

2. episodic memory

DT Db
2. %
3. semantic memory
- l.‘_’—_()(é @Gcﬂg%‘i
4. echoic memory
L HDFONE Db

Question Number : 57 Question Id : 5244766057 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Forgetting may be described as

DBVFIER), P 380155,

Options :



1. negative learning
1DSB3Eed 927500

1. %
2. negative recall
Hedre OO
2. %
3. negative retention
1035 Qe
3.9
4. negative recognition
D38 HO0Y)
4, ®

Question Number : 58 Question Id : 5244766058 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The curve of forgetting was first drawn by

BP0 @ HIEVD Az,
Options :
1. Thorndike
. @DAS
2. Skimnner
L )0
3. Gestalt

;. e

4. Ebbinghaus
NTARelaP S

4.9

Question Number : 59 Question Id : 5244766059 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Arrange the theories of forgetting (according to the correct time sequence of the
following theories)

0BT VFT0TON @NE)0A (1Bod dFFoBTS TBNE) OB
QA (80 (05°850)

a. Disuse theory

BN V050

b. Theory of stimulus encoding

SN ASH,A08 DT 00

c. Interference theory

%50 DT°0SHO

d. Perseveration-consolidation theory

DENAD-EIODTAS DTPOS0

1.¢bda

1. %

2 adeh

2.4

J.acdb
. .

4. b,cda

4, ®

Question Number : 60 Question Id : 5244766060 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

New learning interferes with the retention of old memories is known as
§5 23750 aleh DTN DENNEHCH0S 3080 EDRN0H.
HA 085

Options :



1. Interference theory of forgetting
000 E50 DT0SH0

1. o
2. Retroactive inhibition
B ASrER A0
2. i
3. Proactive inhibition
IDFASrED QTGO
3 0%
4. Cognitive inhibition
LA o1 le)
4, %

Question Number : 61 Question Id : 5244766061 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Thinking is carried on by

eSS 0TE T 2RSS0,

Options :

1. imperceptible mascular movements

EQDOTIR 309,56 E5OEen

1. ®
2. mental images representing a variety of symbols
DG B3 V3% O AFLIOW P D &PeN
2. %
3. Dboth of these processes
& Bod (HfaHen
3. )
4. neither o the processes
d8a%en 5°¢h
4. % -

Question Number : 62 Question Id : 5244766062 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Mental activity which is controlled by the wishes of the individual is called

558 TWBE), §OEOT JOHOBONDT PSS 5B ST eN
0.

Options :



1. pleasure thinking
350650 €3S TS

1. %
2. autistic thinking
e3¢35 3659
2.9
3. creative
. Dp23aed )8
3.

4. no thinking

L 3SR B

Question Number : 63 Question Id : 5244766063 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The inference ‘a shifly-eyed man who looks like a fox is very cunning’
illustrates

‘d8yer EANDOW 7R TPeF TETIESOMT GOLTCR)’ @9 9 NNTIO.

DHEOH.

Options :

1. deductive thinking

. 500 @S

2. reasoning by analogy

PADSed e SO0 8528 80
2.V
3. deductive reasoning
500 &880
3. ®

4. 1inductive reasoning

88 &°6).80

Question Number : 64 Question Id : 5244766064 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The thinking process does not involve

23655 (D80S’ 100 Be.



Options :
1. edictic images
ERSTRRPER A [ SV

1.V
2. 1images
[ EPEN)
2. % -
3. verbal symbols
32 W) e
3, %

4. non-verbal concept
e9F°E 2%

4, %

Question Number : 65 Question Id : 5244766065 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The symbols used in thinking are

eSS GHATJFA0T DHey

Options :
1. 1images
D[E°eD
1. %
2. languages
e
- ARADY
3. concept
23°90)
3 8
4.  all of the above
DI
4.

Question Number : 66 Question Id : 5244766066 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The starting point of thinking is

236575 ABNEY, |2PB025 TS0

Options :



1. goal

o 3 50
2. conflict
A o4
L 005008
3. drive
=3
4. tension
|86
4 ®

Question Number : 67 Question Id : 5244766067 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Functional fixedness is

180558 Geb L0 9P

Options :

1. concentrating on a fixed goal

DG 50 Gyed TOOEBOTC0

1. ®
2. adjusting functions to arrive at a particular solution
QOQ DO T8 BAFIETE HDOE R HW23En BOANCBO
2. %
3. finding alternative solution to a problem solving
QDN DO TS [DE75e07) O DO TR, ENTIE0
3 8
4. adapting a fixed approach to solve a problem
D0 DONLO0IEAS DB DGR, €9 OB0THE0
4.

Question Number : 68 Question Id : 5244766068 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

All of the following are kind of reasoning except

80RNN), 2.8 B8RS &0y €0 D).

Options :

1. deductive reasoning

5005 0280



2. inductive reasoning

268 67,80
2. %
3. creative reasoning
. Dgreds e0). 80
3.
4. evaluative reasoning
rer ;08 e°0) 80
4, %

Question Number : 69 Question Id : 5244766069 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following involves controlled thinking

806 ¢3S DO DOHO|Seh e3¢5 I EOR SOLNOA.
Options :

1. dreams
L Soew

2. fantasy

5
- FOMOTATS
3. reasoning
&0y 80

3.¢

4. autistic thinking
36305 eseS TS

4, &

Question Number : 70 Question Id : 5244766070 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Creative thinking involves the phenomenon of
DY237e528 e365TH0 9T Sf $A.C%W.
Options :
1. deduction

500

2. Insight

@Oeﬁ@@%}

2.



3.  Induction

s QOGES
4.  decision-making
. QBN SNE NS0
4.

Question Number : 71 Question Id : 5244766071 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

believed in a general intelligence factor.

PGPGE DY SPETR) ¥ S0TRD.

Options :

1. Stemnberg

QD
. @b
2. Spearman
RA)ANTZEN
2. ¢
3. Gardner
il
- RSO
4. Thurstone
aleARN
4. % '

Question Number : 72 Question Id : 5244766072 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Which of the following is NOT one of Sternberg’s triarchic intelligences?

808 ¢3S DA W50 T, | TOSrOLE ROBOBS)S 2,8¢3 5°¢%0?

Options :
1. creative intelligence
- DY27e528 RN
2. practical intelligence
e3Td0ET™E4 28 AN
2. %

3. fluid intelligence

16963 DY

3.



4. analytical intelligence

DBNET 528 D)

4, %

Question Number : 73 Question Id : 5244766073 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which i1s NOT among Gardener’s list of Intelligence?
PSS G30E) ROBOBS) eSS DO BEX?
Options :

1. Naturalist

QD2
1. ®
2. Physical
- 2338
3.  Spatial
28
3 8
4. Interpersonal
L DO DS

Question Number : 74 Question Id : 5244766074 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Which of the following is NOT a theory of Intelligence?
8§06 53365 ROBOBS) DT°0B0 O DE?

Options :
1. Unifactor theory
. OIS0 DT 050
1.
2. Two-factor theory
BORN-5°G5°) DT°0H0
2. %
3. Theory of regression
L BOHHS dFoso
3.
4. Mulnu factor theory
2V 2O5°) 00
4, ®

Question Number : 75 Question Id : 5244766075 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response



Time : N.A Think Time : N.A Minimum Instruction Time : 0
Intelligence is the ability of
SEODBEIC DD 0P $0.
Options :

1. adjusting in new situations
§éd HOVAES HED2FEN

1. ®
2. availing of past experiences
t9e% €902 OO0
2. %
3. abstract thinking
DS 36519
3.8
4.  all of the above
25)
4.4

Question Number : 76 Question Id : 5244766076 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Galton developed tests of intelligence by measuring tasks requiring

_ 50 @S0G DO FOINB0 TP J0° TR BSOS
HOE O @DHHB DB .

Options :

1. reasoning

080
1. ®
2. perceptual motor skills
11963769 3°E°D To)EF°eD
2. ¢
3. problem-solving
. QoS aBor). OO
4. all of the above
DBAY
4. %

Question Number : 77 Question Id : 5244766077 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



The G factor is related to

G 080 50 DO20HOWIA.
Options :
1. Intelligence
Lo 0C0)
2. Motor skills
SPErD Je)ET°FEN
2. ®
3. Problem-solving
NeNDS-DOr60
3 8
4. Writing
O*AC0
4, ®

Question Number : 78 Question Id : 5244766078 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Intelligence quotient is
F0VOBR) § 2000
Options :

1. equal to the mental age of the person

3558 ABNE), HdRE HOHNYZY H3FH0

1. ®

2. equal to the chronological age divided by the mental age

JTAVE HOHNIS 23°A0TIBD B ATITH0 HdFS0
2. %

3. Dbased on the ratio between the mental age and the chronological age
S8 DA OO SPETND IO, ¢S DA
e3P0

3.
4. both 1 and 2 are correct
1 080 2 BOGT DS
4. %

Question Number : 79 Question Id : 5244766079 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



David Wechsler defines intelligence as:
BAE 3806 SISO [eF DB 0.
Options :

1. the psychological potential to solve problems

D005 DONLOODIEIE 53°IE e S0

2. what intelligence tests measure

) DBE N D Fenon

)

being able to behave in a consistent way

VB BB (HHB0dKNCB0

3 8

4. the global capacity to act purposefully. think rationally and deal
effectively with the environment

SOOI SE0MT H59TB0T (D0 P50, TredDomr
S 0G0 SOOI HEITOOIR0 DTG0 HNYSH0SOrT

Question Number : 80 Question Id : 5244766080 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Binet viewed intelligence as
ARNTARTID AT NS P D .

Options :

1. many specific abilities that are independent of one another and affect how well a
child learns at school.

28TATEES D 350(HOTT OB 008 A0 FTPDT 5N HOTID
FETOS DO DO 23T FEDITOEFET PR D (22390
- T 0.

2. acombination of general and specific abilities for which mental age affects test
performance at specific chronological ages.

S5 500 O SO EATIRTSE0 HOE, HASBEE (92TFNS0 T
PEREE OO AV sNT°se Erons.

& e

2, %

L

a general ability associated with specific, but related, mental functions.
DB, 52 HODOEES, STOE DN @ NVOOIDABS AN
0P S0.

3. ¢



4. a general ability that is not age-related.

HONI-D0200 B FPGHLd NP S0.

(&

4, ®

Question Number : 81 Question Id : 5244766081 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The scope of social psychology may be divided into
020”228 DR §F Q0 A3NEY, DBA T 22352209370,
Options :

1. social stimuli and social stimulus situations

AEE DN DO s OIS HOVBED

1. %

2. individuals reactions and experiences arising from social stimulus
228 GODS OB Ereh 1) 0TS H5TE (HEBHB5ED
OO €9cZIeN

2. W
3. influence of social environment on the individuals
DENO D T8 TG0 |D2TH0
3.8
4.  all of the above
PRI
4.

Question Number : 82 Question Id : 5244766082 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which is NOT the area of interest in social ps?chology
ar28 SRS §7° DO @305 EDR0W (050 SN,

Options :
1. social cognition.
%0228 800
1. %
2. group behaviour
DA IO
2. %

social influence

P22 (202°00

S



4. stages of development

EARRARAL TSN

4.9

Question Number : 83 Question Id : 5244766083 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Find the discipline that does not have a close tie with other social sciences

ReHS Trdre2E OIS D) e D000 B ($0BE L9

Options :

1. Sociology
A2 T Q0

1. ®

2. Anthropology

S80S0
2.
3. Physics
2538 T Q0
3. ¢
4, Philosophy
L b ¢b §3°| VO

Question Number : 84 Question Id : 5244766084 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Degree to which an experiment is superficially similar to everyday situations

2,8 1IN0 Ferard HDOVAOE OSSO HIFPI0MT 0T S|
T

Options :
1.  experimental realism
|DA3TTed 28 0 Eed
1. ®
2. dependent variable
G DOTOE) IO0HNSO
2. %

-

3. mundane realism

[FHODE THODEeS

3.9



4. random assignment

[ WHARTAREIEIA e WePe)

Question Number : 85 Question Id : 5244766085 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Evaluations of various aspects of the social world is called

507228 (DNO0TIOES R DNE 90T S0P FOET ) 90T,
Options :
1. attitude
S0
1.

2. attitude ambivalence

. IO HoANeH
2.
3. perception
COITTPE° )
3. #
4. sensation
AOISOD0
4. o

Question Number : 86 Question Id : 5244766086 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

A model for predicting people’s behaviour, which states that the best predictor of
people’s behaviour in any given situation is their intention to perform the
behaviour.

29 5550 [DeI0HD 0HT® DODEVE 2,8
SR, B 0 DOVBS T® S5 (9IS I EHNOTP 90T 0 955
193880 (DADY0TOT SIS0 @ DFROD.

Options :

1. Theory of reasoned action

TRV LGS ABNEY DT°0B0
1. ¢

2. Theory of planned behaviour
[ DETDTDRTOD (DDedBS TBNEY, D00

2. ®



3. attitude-to-behavior process

SO DOG (HS5YS 18D
3.8
4.  none of the above
aia) SR
4. %

Question Number : 87 Question Id : 5244766087 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which is NOT the dimension of Kelly’s theory of causal attribution?

20 Ty, 568 ©F £ VTS0 T0EL HOIFE0 DO 5902

Options :
1. consensus
DS AHO
1. %
2. consistency
L WO 20

3. distinctiveness

BOEOV
3. % '
4.  cognifion
Q0
4. &

Question Number : 88 Question Id : 5244766088 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Cognitive biases in attribution are

STO0NS 0D HE arEren

Options :

1. correspondence

O 0B
1. %
2. person positive biases
558 rdre HE e
2. %

3. both1and?2
1 0603 2 Bodsy

3.9



4. ego-centric biases
e9570-80(HEHed HE e

Question Number : 89 Question Id : 5244766089 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

A prediction of how the concepts and variables are related is

S°R)RED DO OGNS ) DEF D000 EOR o) > 28 OTHD®

Options :
1. theorizing
DT*03EB0TIB0
1. ®
2. operationally
- Sepignleley
3. hypothesizing
DOEDND
3.
4. conceptualizing
D050
4, %

Question Number : 90 Question Id : 5244766090 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Attitudes may be measured by

JDOQ ™ 57656570,
Options :
1. likert scale
. BE0 O

2. single item measures
2,8 @030 Soreden

2. %

3. semantic differential

0870638 BHBIHS

4. all of these
NP

4.9



Question Number : 91 Question Id : 5244766091 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequence the stages of development

0D HH@ OFDON (800 DADHOG

a. Infancy and toddlerhood
27°50 sDO0 DD
b. Middle childhood
AVATEAN SIe)
c. Prenatal period
20005 80 § 5°O0
d. Adolescence
SO %
e. Early childhood
2> 50 0030

=)

Options :

l. Db.cde.a
I.Q

2: c.a.e.bd
2

3. d.c.b.a.e
3 8

4. e.a.c.d.b
4, ®

Question Number : 92 Question Id : 5244766092 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Observable characteristic of a person is known as

208 3558 ABNEY D0 THAD 8 770 €90e.
Options :
1. phenotype
R
1.¢
2. genotype
L 2e0580°00

3. polygenic inheritance

BT OO 50

3 8



4. multi-factorial transmission
DIVF-5°05°0) |Dard0

Question Number : 93 Question Id : 5244766093 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Union of sperm and ovum fuse to produce a zygote 1s

B et TOHEVE )52 SOOI @00 eseS Eerons

Options :

1. mutation

S0FBINN
1. %
2. temperament
O £27%)a300
2. %
3. sex chromosome
E) IS
3. ®
4. conception
v ARSI

Question Number : 94 Question Id : 5244766094 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Lack of oxygen which may cause brain damage is

FCICZ 57 EOR0D 381230 BEFICH0

Options :

1. anoxia

08 ol

2. anorexia

S BE YOS

3. Dbirthing

SO



4.  low birth weight

58070 228 20004

Question Number : 95 Question Id : 5244766095 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Automatic. involuntary, innate responses to stimulation is known as
GODDB O S0HOTTOE, @008 )6, HiTB RS (DD YOI
0.

Options :
1. myelination
DOVAR

1. ®

2. differentiation

23¢50

2. %

LS ]

integration

D8&Se0

4. reflex behaviours
B8, (HSVIen
4.

Question Number : 96 Question Id : 5244766096 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Modifiability of the brain through experience is

€9c3023050 TP L0® IR A3NEY, 307D
Options :

1. thinking

&3S

1. ®
2. plasticity
TRV

2.

3. lateralization

0 88850

3.8



4. mortality
sDGETEN

Question Number : 97 Question Id : 5244766097 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which is NOT a developmental task of babyhood
2350 TBNEY 98B D 5.

Options :
1. walk
HesE
1. o
2. talk
L D)
3. elimination
3 % SOA0)

4. emotional independence
2% T3 515 P LeB0| €850
4.

Question Number : 98 Question Id : 5244766098 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Ability to order items along a dimension is

2.8 HONINTPE0S” HNHE 308 T Y50

Options :
1. categorization
5085
1. %
2. seriation
L oA
- DA
3. transitive inference
1857 )30 eocdabes
3. B

4. class inclusion

5O ied DY

4. %



Question Number : 99 Question Id : 5244766099 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Stage in which young children are able to think about things symbolically is

D) DDEN DAATTE HOOD) (ed5ees 50T esSoHET ¢4

Options :
1. sensorimotor
ESTSATIS VTS
1. %
2. concrete operational
- 520|880 SPOP§eH e
3. pre-operational
SN TOTAT VRS oo )
3. ¢
4. formal operational
L 508 OrIGE

Question Number : 100 Question Id : 5244766100 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Kohlberg’s theory of moral reasoning in which control is external

§S30 M0E) DRE ©°02,50 &) DT0H0, HAS’
QODO(5EI 23°%3°§ VR,

Options :

1. pre-conventional morality

3G § QOO Dedded

1.¢
2. conventional morality
DODTTAD Dedsed
2. %
3. post-conventional morality
DO OIPI0SE Sed&eh
3. %

4. 1magery audience
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